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ROP = DDLT + SS

= d=*LT + Z*GLT

Z=1.645 2| 2|0|
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W28 LEUHAE AEIA =5

vSS=0 AT E
VLT= 4 Q=320
v'# orders/day ~ N(10, 22) \
v'd~N(4, 19) ROP=160
v QIDDLT =2 \
\
0 N
+_. Al 7t

LT

SL = (7/8)*1 + (1/8)*(0.5) = 15/16 = 93.75% ?
cf. DC2| MH|lA =2 50%
Conjecture : SL=1-[ 1/ {2*LT*(Q/DDLT)}] = &<



MHIA 2= A3

F=SCM& 3| 20075t AL E IS, COEX Ot& £(203,2085), 2007.07.05(=])

d~N(4, 1°) -0 ol 2= Q/DDLT
== = 2 3 4
~ 2
# orders/day ~ N(10, 27) T O/2 | 75.00 | 83.40 | 87.50
LT=1, 2, 4, 8& Alsl | 72.90 | 81.88 | 86.01
_ ~ o/2 | 87.50 | 91.67 | 93.75
SS=0 LT=2 AlS | 8592 | 90.25 | 93.08
Q/DDLT =2,3,4 7.4 |OIE | 93.75 9583 | 96.88
Alsl | 92.31 | 94.99 | 95.93
To3g O|2 | 96.88 | 97.92 | 98.44
Alsl | 9572 | 97.61 | 98.05
) SL=1-[1/{2*LTXQIDDLT)}] &IZ
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MHIA &2 AlS

@ X} 2(%)
2.5
= Q/DDLT 2
5 Q/DDLT 3

Q/DDLT 4

15
1 I
0.5 -
0 - r r ,
LT=1 LT=2 LT =4 LT=8

v XIO|Jt L= Ol 57 : Oldtvs, A5
-> ROPEL OFeHOI Al THZ=Z2(0| &FAIZH
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conjecture

N
SL — H SLI
1=1

0.81 = (0.9)%(0.9)
0.90 = (0.9487)(0.9487)
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HHIA £ M8 (24 Z2)

v d,~N(10, 22) dg~N(4, 1?) vLT=1,2, 4
v’ # orders/day ~ N(100, 109 v'z=0,1.645 Q/DDLT=2,3,4

P — Q/DDLT
LT Z 2 3 4
. 0 22.49 37.51 48.63
1645 | 37.36 2939 | 5950
5 0 48.44 66.09 713.72
1.645 63.72 77.04 81.81
4 0 74.21 83.38 87.36
1.645 85.26 90.01 93.06
Conjecture (22 E S & & X AFHE): 0.93025*0.9337° = 49.42%
Conjecture (SF 2 == AISIX| ALR) : 098085 * 0.97615 = 80.42% 0
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Conjecture?

n
o 1% SL = 1,} SL,

30 mo w3
25
20
15

10
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LT=1 LT=2 LT=4

v1645/3 8%, 2 B=2SL=0.9°1=98.9%= 2Holl0F ==Y SL=90%

v'General model?
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